18 3 7 5 3 8 2 2 8 6 6 757 3 5 5 5 5 6 6 2 TT T T 3 7 5 5 5 6 222222222 3 5 5 6 6 2 2

. bS v s MH: -F B -E®RB - BB -EHKE(H - &) )
08 H 20104 10H 30H (£)-31H (H) #OH R OAWT
30 fetps  (FE) A ARZRARE EpiiiE S Bm Bt [EI BRI K a—F 1{ 0| 63 1/6/0f5 ek EML IR
30 EfEMRA [EBREIE R e L E BRI [E BB R b e a—K 1 2| 3| 0| 6/ 0 ok B Il
mon (s eead ] wowow s [BEEREL o og g o ox o [BEEREL o og Mg oy p g [BIERE] oo I g gy o g [BIRREL g
30110mH(106.7cm) 1 T | 3]|+46] 5 EIEPN) AT & 1 5 1[5(7|2 Er NI RS AT - #52: TH¢ D|N|S RS PR FE AR 1 U D|N|S
2| +3.6 [ 1 JIN #R [ER A3 HA 1|4f3]3f 2 A R R K 18 1| 4f5]4f 3 ES o R4 T3 114]6|0f 4 EEREEN K3+ i 1|5]0]5
5 HF i IR - 2+ ) 1]5]4]1 T FA EIRAAF B M1 T4 D[N|F St fEs VAR - - 1 0 D|N|S INEF A AR M1 T D|N| S
2 |—&oP| 1| +5.1] 1 ik = R K 1- K 114]8]3] 2 IR R K1 T 1[5)2|2ff 3 EZ UL [EE K- 2 B8 15]2]3] 4 (G N Eariv N B 15|2]7
5 B fE— [ER A4 T 115]3]2 ENIEN:: AL i 51 T DIN|S
2 | =%op| 1| +3.0] 1 TiE A AR M1 T tlaf1|1ff 2 JIN #R R K3+ R 1(4]3|3]f 3 RAF B EE A4 T 1j4f6]off 4 FA R FER K 1B 1{4]7]0
5 A ik [ NEKI RS 114|8|3] 6 ik FEIRR- 1 23 1507 7 Ent R R 1 T 5 1]5[4]4] 8 Z M R K2+ B 15|5]7
2 [+2.1 1 fer i #l [ - 1+ #eli] 1[5[18]f 2 - it A - 2 H ] 115]2fof 3 By pE— ERK-4- T 1[5]4]|6
200mH(76.2cm) | 2 |k +1.8 1 A HE FobT A T 21 2(8]0f 2 HRIT ] [ 1 b 2|6[5|3 XY SRR V=—bA [HUIERAC. - TH D|N|S LA B NS REIZS D|N|S
[ A4 HE bpInls B R R H - 1 T4 D[N|s
400mH (91.4cm)| 2 | B |1 1 EZ L IR -2+ BHR 6lof8]1] 2 ik = e N R/ 27 D[N|F AR K ER K- 1-HE D|N|S fer AR Hill [ R 1+ ] D|N|S
Tk it ER A1 FH D|N|S
2 1 RE K RO AR 5/3|4|8f 2 HT FEIROR - 2+ ) 6|0]|0|6[ 3 JIN #A K- 3 B 610|7|8[ 4 ENR(FN FER K3 B 6|2]5]2
5 A fEH] +HRTFC- - T2 713]1]2 R FHK BERAAFBE ML I D[N|s
fE: OV—ARS Ti#: T LRT#E: 1T 2R T#:27 MR Bt @ —FABHIE, AL A — R O@ESEE R RICEA TS, [#&HiNo. 11)

2007. 4.1 #ERAEN AASZERE BFHais



